Standard Cylinders Series AM (ISO 6431, VDMA 24562)

Piston dia 32 to 100mm

Easily detachable, positive locking, reed
switches for position sensing.

Extra long guided piston, with low friction .
‘U’ seals and unbreakable rubber magnet Low weight, pressure
for reed switch actuation. die cast aluminium

Fine control cushion screw with lock,
to prevent accidental removal.

Piston rod centreless ground
and hard chrome plated.

alloy end covers.

International standard ‘T’ slots
on all sides for reed switch.

Extruded aluminium alloy, accurately honed barrel.
The square section blends aesthetically with the end covers.

Complete Internationally compatible VDMA standard
mounting threads. All mountings can be attached without
dismantling the cylinders.

Specially compounded rod wiper seal.

Operating Conditions

Media

Air (filtered 40u & lubricated)

Temperature Range

+5°to +50°C

Pressure Range

0.5to 10 bar

Leakage

Bubble Tight

Mechanical Characteristic

Barrel

@32, @40, D50, 063, @80 & D100 - Aluminium alloy

Piston Rod

Carbon steel IS 5517 - C35

End Caps

Aluminium alloy

Seals

Nitrile rubber, polyurethane (Viton for high temp. on request)




Standard Cylinders Series AM
Piston dia 32 to 100mm

Series ‘AM’ Cylinders BASIC DIMENSIONS

-

SINGLE ENDED

‘T’ SLOTS FOR REED

SWITCH SENSORS

. (8Nos. UPTO @100 ONLY)

N+ STROKE — ‘O’ AIF SPANNER o PCD

CUSHIONNING SCREW sLOT .C.D.
(2Nos.) N

ac
LL —+ { KK THD’S

{_

JJJﬁI

‘EE’(B.S.P. Ports
2Nos.) l—— ‘F’ sQ. ——I
‘E’ SQ.

ZB + STROKE ‘G’ THD’S x ‘GA’ DEEP
FOR MOUNTING (4Nos. EACH SIDE)

. Y,
( A

DOUBLE ENDED

‘T’ SLOTS FOR REED
SWITCH SENSORS
(8Nos. UPTO @100 ONLY)

l~—H M
_j N + STROKE <|:_

CUSHIONNING SCREW | _, ‘0’ AIF SPANNER ‘D’ P.C.D.
(2Nos.) sLoT

_{ﬂB |’ﬂc
B
= f
-V~ - GA |~ v =] - Fsa -

‘EE’(B.S.P. Ports 2Nos.)

KK THD’S

I ‘EsQ.

|~— STROKE + W ZB + STROKE L ‘G’ THD’S x ‘GA’ DEEP
FOR MOUNTING
(4Nos. EACH SIDE)

- J

MODEL | PISTON A | o8| gc D E EE

No. | DIA(mm) P.C.D. B.S.P. G | GA KK
AM32 | 32 | 22|30 | 12| 46 | 47 | G1” M6 | 16 M10 x 1.25

AM 40 40 24 | 35 | 16 | 53.7 | 53 | G1/4” M6 | 16 | 29 M12 x 1.25
AM 50 50 32| 40 | 20 | 658 | 65 | G1/4” M8 | 17 | 30 M16 x 1.5
AM 63 63 32 | 45| 20 80 75 | G3/8” M8 | 17 | 31 M16 x 1.5
AM 80 80 40 | 45 ( 25 | 101.8 | 95 | G3/8” | 72 [M10| 18 | 35 M20 x 1.5
AM 100 100 40 | 55 [ 25 | 126 | 115| G1/2” | 89 (M10| 18 | 36 | 18 | 14 | M20x1.5| 10

® STANDARD STROKES STOCKED FOR QUICK DELIVERY : 25, 50, 80, 100, 125, 160, 200, 250 mm.




Standard Cylinders Series AT (ISO 6431, VDMA 24562)
Piston dia 125, 160 & 200mm

Fine control cushion screw with lock,
to prevent accidental removal.

Low weight, die cast
aluminium alloy end cover

Complete Internationally compatible VDMA
standard mounting threads. All mountings
can be attached without dismantling the
cylinders.

Piston rod centreless ground
and hard chrome plated.

Specially compounded rod wiper seal.

Operating Conditions

Media : Air (filtered 40 & lubricated)
Temperature Range © +5°to +50°C

Pressure Range © 0.5t0 10 bar

Leakage © Bubble Tight

Mechanical Characteristic

Barrel T 0125, 0160 & @200 Carbon steel

Piston Rod : Carbon steel

End Caps : Aluminium alloy

Seals © Nitrile rubber, polyurethane (Viton for high temp. on request)




Standard Cylinders Series AT
Piston dia 125, 160 & 200mm

Series ‘V’ Cylinders BASIC DIMENSIONS

r

SINGLE ENDED

‘O’ AJF ‘T’ SLOTS FOR
SPANNER REED SWITCH SENSORS
CUSHIONING SCREW SLOT (8 NOS. UPTO @100 ONLY)

[KK THD’S

J

L ]_'_ ;
i
‘EE’ (B.S.P. Ports e ]

Znos.) ‘D’ P.C.D.
Optional [=~————— N+ STROKE H ‘G’ THD’S x ‘GA’ DEEP

M5 Autolube ZB + STROKE FOR MOUNTING (4 NOS EACH SIDE)
Ports, 2 nos.

DOUBLE ENDED

- ‘T’ SLOTS FOR
O’ AF REED SWITCH SENSORS

SPANNER K(a NOS. UPTO @100 ONLY)

" o : sLoT
KK THD'S QB]_:I‘ _|' o :
1 W
‘EE’ (B.S.P.

Ports, 2nos.) |- — Optional

v M5 Autolube Ports, 2 nos.
‘G’ THD’S x ‘GA’ DEEP

N + STROKE FOR MOUNTING (4 NOS EACH SIDE)

~—A STROKE +W ZB + STROKE

\_ Y,

MODEL | PISTON D £ EE
No. | DIA(mm) P.C.D. B.S.P.

AT125 125 54 | 60 | 32 | 155.6 | 140 | G1/2” | 110 ([M12| 22 | 40 | 17 | 18 | M27x2 | 19
AT160 160 72 | 65 | 45| 198 | 180 | G3/4” | 140 (M16| 22 | 50 | 22 [ 22 | M36x2 | 20
AT200 200 72 | 75 | 45 | 247.5 | 220 | G3/4” | 175 |M16| 22 | 54 | 26 | 22 | M36x2 | 20

A 9B | @C F G |GA| H J | KK L

® STANDARD STROKES STOCKED FOR QUICK DELIVERY : 25, 50, 80, 100, 125, 160, 200, 250 mm.




Standard Cylinders Series AM & Series V Mountings
Piston dia 32 to 200mm

CLEVIS FOOT

PART No.

71-003-01
71-003-02
71-003-03
71-003-04
71-003-05
71-003-06
71-003-07
71-003-08
71-003-09

PIVOT FLANGE

PART No.

71-032-01
71-032-02
71-032-03
71-032-04
71-032-05
71-032-06
71-032-07
71-032-08
71-032-09

SINGLE EARRING

PART No.

71-043-01
71-043-02
71-043-03
71-043-04
71-043-05
71-043-06
71-043-07




Standard Cylinders Series AM & Series V Mountings
Piston dia 32 to 200mm

ANGLE BRACKET

CYL
BORE

71-031-01| @32 | 7 | 32
71-031-02( @40 | 9 |36
71-031-03| @50 | 9 | 45
71-031-04| @63 | 9 | 50
71-031-05| @80 63
71-031-06 | 100 71
71-031-07 | @125 90
71-031-08 | 3160
71-031-09 | 3200

PART No. @AB| AH

ololojlajla|s|ps~] O

-
o

=N
(3,

FLANGE FRONT MOUNTING —{w

PART No.

71-033-01
71-033-02
71-033-03
71-033-04
71-033-05
71-033-06
71-033-07
71-033-08
71-033-09

INTERMEDIATE TRUNNION WITH MOUNTING BRACKET ooy

CYL
BORE @D gTD|UW

71-034-01| @32 1 12 (65
71-034-02| @40 15 9 16 (75
71-034-03| @50 15 9 16 (95
71-034-04| @63 18 20
71-034-05| @80 18 20
71-034-06| 2100 20 25
71-034-07| @125 20 25
71-034-08| 3160 26 32
71-034-09| 3200 26 32

PART No.

REED SWITCHES
Refer to page 3.04/1 & 3.04/2 for technical information.

MODEL 71-036 MODEL 71-037 MODEL 71-038
3 WIRE - NPN 3 WIRE - PNP 2 WIRE 230VAC




Standard Cylinders Series AM & Series V Piston Rod
Accessories
Piston dia 32 to 200mm

ROD CLEVIS

oYL
BORE KK

71-007-01 232 M10 X 1.25
71-007-02 240 M12 X 1.25
71-007-03 | @50, 63 M16 X 1.5
71-007-04 | @80, 3100 M20 X 1.5
71-007-05 2125 M27 x 2
71-007-06 | 3160, 3200 M36 x 2

PART No.

SWIVEL ROD EYE

CYL
PART No. BORE KK

71-008-01 232 M10 X 1.25
71-008-02 240 M12 X 1.25
71-008-03 | @50, 63 M16 X 1.5
71-008-04 | @80, 3100 M20 X 1.5

ROD EYE

CYL
BORE KK

71-009-01 232 M10 X 1.25
71-009-02 240 M12 X 1.25
71-009-03 | @50, 63 M16 X 1.5
71-009-04 | @80, @100 M20 X 1.5
71-009-05 2125 M27 x2
71-009-06 | 3160, 3200 M36 x 2

PART No.

SELF ALIGNING ROD COUPLING

PARTNo. | YL KK

BORE

71-010-01 232 M10 X 1.25
71-010-02 240 M12 X 1.25
71-010-03 | @50, 63 M16 X 1.5

71-010-04 | @80, @100 M20 X 1.5
71-010-05 2125 M27 x 2
71-010-06 | 3160, 3200 M36 x 2

KK

|

&° ANGULAR
DEFLECTION




